Trigonometry Review

2. The hypotenuse of a 30°-60%-90° iriangle measures ID«JE inches. What is the measure of the longer leg?
a Sin, ‘ . 10in.

b. 5;\5 i, d. 15

3. One leg of a 45°-45%-90°% {riangle measures 12 centimeters, What is the Iength of the hypotenuse?
% 4af3 em S 124f2 am
b 6af2 om ¢ 1243 om

4, ‘What is cos 30°7
a. i c. p

”ﬁ.
L]
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5. A camera s mounted at a point 4,400 & from the base of a rocket launching pad, Assuming the rocket rises vertically,
what is the height of the rocket from its base when the camera angle is 30°? Round your answer to the nearest foot.

a. 3,811% c. 17,6214
b 2,540 % d. 2,200 4t

7. Whrite the (rigonometiic ratio for cos X as a fraction and as a decimal rounded to the nearest handredth,

Y
4. _ iz G. ~_];g
cos X¥'= g w1.33 cos X= 1z 0.80 15
b. 9 d. g
cosX—E = {16 cos X = = 075 9
X 7 4
8. Whatistan X9 L
a 8§ o 15
17 17 45 "
b g d 15 24
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11.

12,

13.

14,

135,

16,

Use a special right triangle to write tan 60° as a fraction.

A3
i

b1
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Which is equal to the cosine of Z&7
a. 06
b. 0.75

3
‘Which angle has a cosine of z ?

a. z_’,ﬁ

‘Which is approximately equal to sl 4?
a. 055
b. 0.63
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A skateboard vamp has a slops of "2" ‘Which is the angle the ramp makes with the ground?

2

a. 227
b, 24°

Which expression can be uged to find mLLF?

& sint(0.38)
b cae™l(0,38)

‘What is tan 347 to the nearest hundvedth?
a. 034 .
b, D0.56

What is sin 49° to the nearest tenth?
a 0.7
b, 0.8

66°
Not here

tan 1 (0.38)

sin™1(0.92)

0.67

0.83

1.2
1.3




17, Find tan 4 and tan 5. 10
a. tan dw0.38, tan B~ 2.6 ¢. tan Aw 1.08, fan B 0,42 94
A

19.

21,

22,

23.

24,

b. tan d=26,tanBw~ 0,38 d tan A 0,92, tan B = 2.4

£4 and £B aro complementary angles as shown in right triangle ABC Eind the sinte of 24 and the cosine of 2 5. Then
describe how they are refated.

c & ]

a 3 !

sind = cos B = 17, ; they are the same ratio
b 40

sind = cos B = —5 : they are the same ratio &
C . 15 .

sind =rcogB= 2 ; they are th_e same ratio 4
d,

it d = cogF e % ; they are the same ratio

. 12
In right triangle ABC, £ A and £ 5 ave acute angles. If sin 4 = 37 which of the following statements is itue?

a. 12 c. 37
608 B =3 cos B="5
b. 12 d. 37
cos B = 3 5 cos B= 35

A slide 4.1 m Jong makes an angle of 27° with the ground. How high is the top of the slide above the ground?
a. 1.86m b 365im c. 1.93m d 2.09m

A 12-foot Tadder is leaning up against the side of a house. The ladder makes an angle of 62° with the ground. How far up
the side of the house does the Iadder reach?

a, 0.1 foot d,  13.6 foet
b. 5.6feet e, 25.6 feot
¢ 10.6 fest

A helicopter pilot sights a landinark at an angle of depression of 22°. The altitude of the helicopter is 1450 foet, To the
nearest foot, what is the horizontal distance from the hellcopter to the landmark.

a M3t c. 3589f

b, 5868 d. 3871#




25. A metorboat heads N 15° W to cross a siver flowing 7,25 miles per hour due east. The boat travels at the speed necessary

to hiead due notth. To the nearest mile per hour, how fast is the motorboat traveling?
a. 2mi/h ¢, 27mih
b. 8§miMh d. 28mih

26, An eagle 300 feet in the air spots its prey on the ground. The angle of depression to its prey is 15°. What is the horizontal
distance between the eagle and its prey? Round to the nearest foot.

4, L1204 c. 310#
b. L15%#% : d, 7238
Short Answer

2. A baseball "diamond” is a squere of side length 90 feet, How far is the throw, to one decimal place, from home plaf:e to
second base? 2nd
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4, Find the valug of each variable. Write your answers in simplest radical form. -
18v% x
4

8, From apoint on: the ground 12 feet in front of the bullding, the angle of elovation to the top of the building is 76°. How
tali is the buildivg? Round the answer to the nearest foot, =

1 76°
121




9. The angle of depression from a plane to the airport is 34%. The pilot reporis that the plane’s altitnde is 3200 feet, Find the
horizontal distance between the plane and the ajrpott to the nearest foot,

I. A new street is going to be constructed to connect Main Street, which runs in the east-west direction, and North
Boulevard, which runs in the notth-south direction, as shown in the diagram below. The construction cost has besn

estimated at $600,00 per mile.

2
/ "
) l;‘ g
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EVJ/" ’ Main Strest E
16 mi
S

‘What type of triangle is bounded by the new street, North Boulevard, and Main Street?

Let x represent the length of the new strest, What is the name of the formula that can be used fo find the value
of x? Use that formula to write an equation that can be solved for x.

\

What is the length of the new street 7 Show your work,

Estimate the cost of constructing the new strest.

2, Prove that Z¥XT iz aright angle.
12 13
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ropic 1: Fythagorean ''heorem & Applications

For any right triangle:

, Where a and b are legs and c¢ is the hypotenuse.

Directions: Solve for x. Round your answer to the nearest tenth.

1. .

2,

8.1

4.

5. An Olympic-size swimming pool is approximately 50 meters long by 25 meters wide. What distance
will a swimmer travel if they swim from one corner to the opposite?

Topic 3: Special Right Triangles

Directions: Label the sides for each special right tria

ngle.

45°-45°-90°
Special Right Triangle

30°~-60°-90°
Special Right Triangle

Directions: Find the value of each variable.

11, v 12, 13.
45°
x 22
X 5
L]
¥
X = x = x=
14, - ¥ 15. 4 16.
‘ x ¥
* 16 ) * 45°
1942
X = Xo== x=
Y= y= Y=




